3 Examples of receiving TCP / UDP data into a PLC

For
« PCWORX
« FUJI DWIN300
* TIA PORTAL

IP_CONNECT_4

TRUE
'/PASSIVE /UDP /[PORT=257"

(*PC_WORX UDP example*)

" (*FUJI DWIN300 Example*)

“IP_TO_UDINT_1
IP_TO_UDINT
IP_A1 IP_UDINT

PARTNER ERROR

STATUS
ID

TRUE—
UINT #1—
UINT #0—

IP_A2
IP_A3

13 IP_A4

(*PORT is Fixed at 257*)

(*UINT#16#A092

2 = General Purpo

UINT #16#A092—

UINT #1—

UINT #0—
UINT#1—
UINT #1—

M_OPEN_1

M_OPEN
EN_C

MODULE_NO
CHANNEL_NO
STATION_NO
MODULE_TYPE
MODE
SUB_MODE
RPORT_NO
SPORT_NO

“

(*RD_1 Data Structure

The IP URCY has a header of recive Data
A_WF:
STRUCT
ID :INT;
FxCRC :INT;
FxCT :INT;
Fx5T1 :WORD;
Fx5T2 :WORD;
Fx5T3 :WORD;
Fx5T4 :WORD;
Fx5T5 :WORD;
Fx5T6 : WORD;
Fx5T7 : WORD;
FxST8 : WORD;
Fx5T9 :WORD;
Fx5T10: WORD;
END_STRUCT;
Arry_A_WF : ARRAY[1..112] OF A_WF:

AlLA_WF:
STRUCT

MNoBytes : INT;

ID : WORD;

TM1 : WORD;

TM2 : WORD;

DCnt : INT;

Arry_A_WF : Arry A_WF;
END_STRUCT;*)

VALID F—write_M_Open_Valid

ERROR —wERROR

STATUS —wSTATUS

CON_NO F—wCON_NO

se Mode 0010

9 =UPD and Aut_oreo_pen _ 100_1

0 = Not Used

A = Uppassive / Open afer complete / Des Mode disable *)

+

M_RECEIVE_1
) ) ) ) M_RECEIVE )
write_M_Open_Valid— EN_R NDR —rNDR
wCON_NO— CON_NO ERROR. f—revERROR

STATUS [—revSTATUS
myDATA— RD RD-+—myDATA

UINT#728— SIZE

| S
(*RD Structure

myDATA : ARRAY [1..1000] OF WORD:*)
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* NM_RECV

L] Interfaceld

= D

L] ConnectionType

L] ActiveEstablished

8 ¥ RemoteAddress

= ¥ ADDR

] ADDR[1]
] ADDR[2]
] ADDR[3]
] ADDR[4]

L} RemotePort

L] LocalPort
Mame

4 <@ v Temp
5 <@ = » MyData

TCON_IP_vd =) =)
HW_ANY 54
CONN_OUC 100
Byte 19
Boaol false
IP_Vd
Array[1.4] of Byte
Byte 1680
Byte 1650
Byte 1648
Byte 1650
Ulnt 257
uint 257
Data type Default value

Array[1..1468] of Byte

Comment

(<]

a =1 B A =a = Af]

* Block title: “Main Program Sweep (Cycle)”

Comment

¥  Network1: .

Comment

%DB94
“TCON_DEB"

TRUE —dEN

TCON

FUE —lREQ

16#100 %]

(CONNECT

&)
“Maove_
Connection”.
TCON_Instance

TCON.done
DONE |—

“Maove_
Connection”.
TCON_Instance
TCON.bus;
BUSY [— =

“Maove_
Connection”.
TCON_Instance
TCON. error
ERROR [

“Maove_
Connection”.
TCON_Instance
TCON status
STATUS

ENOQ j—

TRUE — EN

%DBI5
“TRCOV_DE"

TRUE — EN_R

168

Iv]

#MyData — DATA

&)%)

“Maove_
Connection”.
TCON_Instance
TROV.done

NDR —

“Maove_

Connection”.

TCON_Instance

TRCV.busy
BUSY —

“Maove_

Connection”.

TCOON_Instance

TRCV.error
ERROR —

“Maove_
Connection”.
TCON_Instance
TROV.status

STATUS

“Maove_
Connection”.
TCON_Instance
TROV.readLength

ROVD_LEN 7}

ENQ =—

Hw-identifier of IE-interface submodule
connection reference | identifier
type of connection: 11=TCPiIP, 19=UDP (17=TCP.

activelpassive connection establishment

remote IP address (IPud)
IPv4 address

IPvd address

IPv4 address

IPvd address

IPv4 address

remote UDPITCP port number
local UDPITCP port number



